PYTHAGORAS RODS

RIALS _
ree [3] light green rods, four [4] pink rods, five [5] yellow rods, six [6] dark
reen rods, eight [8] brown rods, ten [10] orange rods

Measure the length (in centimetres) of one rod of each colour.
Use one each of the 3, 4, 5 rods to make a right angled triangle like this:
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Now build a square onto each side like this:

i,
Vi

b, oy
P - -
# % " .
Fa a“a{ ., X
=

" : - QH‘ b,

Work out the area of each square.

Find three different ways of placing the two smaller squares onto the larger one
to illustrate that: 3 +4°=5°

. Use the 6, 8, 10 rods in a similar way to first build a right angle llriartgir: and then
show that the two smaller squares can be exactly placed on top of the larger
square.

You are demonstrating Pythagoras" Theorem.

Build a 5, 8, 10 triangle and then build a square on each side.

Does Pythagoras' Theorem work? - why? or why not?
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